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1. Derive the formula for the sum of n terms of an arithmetic series: [image: image2.png]{2a+ (n—-1)d}





2. Evaluate following integral:
[image: image4.png]J In(x) dx







3. Compute eigen values and eigen vector of the matrix.[image: image6.png]



4. Prove the identity using Pythagorean theorem: sin(2x)+cos(2x)=1

5. Average of 9 real numbers is 10. If ninth number is 18, then what is the average of the remaining 8 numbers?

6. In the figure there are two circles with same centres

 and radius 2cm and 5cm. calculate the area of shaded region .

7. If Log(x) – Log(3) – Log(2) = Log(3) then x=___________________

8. If A(x,y)=2x-3y/x, then A(2,1)=___________________

9. If length of the rectangle is 4 times its width and if its area is 144, what is its perimeter?

10. If 1/a+1/b=1/c, 
and, ab=c, what is the average of a and b?

11. If 32a+b=16a+2b, then a=________________

12. What is 50% of 50% of 50?

13. Let f(x) be a continuous function, if f(x) has local maxima at x=c, then prove that f’(x)=0.

14. Prove that function f(x)=abs(x) is continuous at x=0 but is not differentiable.

15. Prove that sum of sequence ½+1/3+1/4+… is divergent.

16. Given the runs made by a batsman in one over: 4, 6, 4, 0,1,2. Find the mean, median and mode of the runs.

17. Mean score of 100 students is 50 and standard deviation is 10. Assuming the scores are normally distributed, what is the probability that a player scores more than 60 runs.

18. In a fairly large class comprising male and female students, the distribution of grades in class is given as under: 

	Grades\Gender
	Male
	Female

	A
	40%
	60%

	B
	50%
	50%


The distribution of grades is independent of gender. (True/False and Explain).

19. A pair of dice is rolled. What is the probability that sum of numbers on two dice is 7?

20. John and Mary are taking a mathematics course. The course has only three grades: A, B & C. The probability that John gets a B is 0.3 and the probability that Mary gets a B is 0.4. The probability that neither gets an A but atleast one gets a B is 0.1. what is the probability that at least one gets a B but neither gets a C?

21. Four people are to be arranged in a row to have their picture taken. In how many ways can it be done?

